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Physical Education
Paper 1II

IR forer
gyutent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U SRd. @d U Wi

A ¢ A YA THO P9 (100) Fgort U9 fooiel oMed. T SReren g (2)

Factors affecting the pace of recovery
are :

(I) Intensity and load volume
(II) Health and Physical Fitness
(ITT) Nutrition and Diet

(IV) Sleep and rest.

(A) (II), (III) and (IV)

(B) @), (IT) and (III)

(C) (III) and (IV)

D) (@), D) (II) and (IV)

Match List ‘A’ with List ‘B’ and select
the correct answer :

List ‘A’ List ‘B’
(1) Aerobic (I) ATP-CP
(2) Anaerobic (II) PNF

(3) Stretching (ITI) 220-Age
(4) MHR (IV) VO, max
o @2 G @
A) an av) adan @
(B) ) (III) (I) (V)
© av) @O dn (d
D) (Iv) dIIm (@ dn

qAYTw=T TdeR IRomH HI0R eh

(I) o A1 YR STehRATA

(I1) TR T R ages

(IIT) 9roror 7fu7 3TeR

(IV) 2 7for fastt

(A) II), (III) =Afur (IV)

(B) (I), (II) afur (I1I)

(C) (III) 3Tfur (IV)

(D) (), (IT) (IIT) &for (IV)

Hﬁ?@ ‘Af M B’ S[egan 301 A 9™

-ana’:l- ‘A°

IEr ‘B’
(1) wifees I  wErd-Hrd
(2) STTfeh (II) HeTus
(3) o (III) 220-a4

(4) HAA TA T (IV) VO, T
»m @ @ @

(A aD (IV) D @)

(B) A) ) O dV)

©)av) (O I I

D) aAV) dI) @O (1D
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Calculate THR at 90% intensity for
25-year old sprinter whose RHR is 68
bpm and who wants to perform 5 min

anaerobic activity :

(A) 179.3 bpm

(B) 181.3 bpm

(C) 180.3 bpm

(D) 182.3 bpm

Basic principle of fartlek training is :
(A) Variation in space

(B) Variation in pace

(C) Variation in duration

(D) Variation in time

Style is individual expression of ..........

in motor action.
(A) Technique
(B) Tactic

(C) Strategy
(D) Competition

The objective of endurance training

istodevelop.............

(A) Energy production system
(B) Physical fitness

(C) Motor fitness

(D) Motor skill
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25 8 T fet=t RHR 68 bpm A
@& 90% tadd 5 fafe sHudifas
gIeTTCl ShUer ATl 3178, ATHIS! STUferd ged
LRSI | -

(A) 179.3 HTA

(B) 181.3 sidiTA

(C) 180.3 siqiTH

(D) 182.3 SidiTA

TRIEeTeh TRISTOTS JAYd o :
(A) ST siee

(B) Trild oIl

(C) whIeTTarEd oIged

(D) Sfexi a5

FRF Fld o=l AR AT




10.

The adaptation takes place faster in
caseof ........... athletes.

(A) Advance
(B) Beginners
(C) Intermediate
(D) Experienced

Extremely high load cannot be
tackled for long by sportsmen unless
the ......... process are supported and
accelerated by some means.

(A) Load

(B) Training
(C) Recovery
(D) Practice

Combines a variety of exercise or
skillsintoalapis...............

(A) Cross training

(B) Weight training
(C) Fartlek training
(D) Circuit training

......... phase is used for active recovery
and regeneration.

(A) Transition

(B) Competition
(C) Preparation
(D) Skill training

10.
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SO TITHA SHeATRIEM™ eI Jrehies

dﬂ?‘ldwﬂﬂ SERES AL RUIEN "H‘éql.
(A) ¥R

(B) wferefor

(C) gFuret

(D) Ea

fafay =™ YR fohar sivear=t T
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11.

(@)
(b)
(c)
(d)

12.

Match the following classification of

body composition with their
standards :

List-I List-II
Overweight (1) 18.5-24.9

Underweight (2) 25.0-29.9

Obesity (3) Below 18.5
Normal (4) 30.0 and above
Codes :

(@ B) () (@

A @ 3 @O @
B @2 B @ @
© 2 & @O @
D B3 @2 @ @

Select the correct answer from the
choice given below :

(I) In the skinfold test all
measurements are taken on the
left side of the body.

(ID

BMI is not a recommended
procedure for determining body

composition.
(A)
(B)
(C)
D)

Both (I) and (IT) are correct
(I) is correct and (II) is wrong
(IT) is correct and (I) is wrong

Both (I) and (IT) are wrong

11.

(@)
®)
(c)
(d)

12.
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qela foaiean IR ered aeffehune

THIUTRTRIER A Siedl e
arer-1 ret-11
ELSECSE| (1) 18.5-24.9
ERINCEE (2) 25.0-29.9
ESll (3) 18.5 U !
= (4) 30.0 3TfUr &AfeeR
Hehdlah :

(@ b)) @ @

A 4 3 @O @)
B) 2 & @ @)
© @2 B3 1 @
D 3 @2 @ @

et ATl S ArT G

IEEEETUR

() feFTmice HEEHS Hd "OT §
IR ST SIS Bel ST

(ID) YRR TereA fafyed amn s uq. 219,
o1 qgarel RTRRE Setel! A&

(A) <= (D) for (11) & SRIsR 3718

(B) () 3 a0&r &fin (11) B 9 3T
(C) (II) T seR 3118 707 (1) & ek 318
(D) =T (1) 37for (10) § =9 =T




13.

14.

15.

16.

17.

Duration of McDonald soccer test

(A) 30 min

(B) 1 min

(C) 30 sec.

(D) 10sec.

Which of the following is not a
method of reliability ?

(A) Test-retest

(B) Split-half

(C) Content

(D) Parallel form

When individuals are expected to
perform at a specific level of
achievementis called ............

(A) Standard

(B) Criterion reference norms

(C) Norms reference norms

(D) Validity

Psychological tests are based on ......
(A) Behaviour rating scale

(B) Reaction time

(C) Concentration

(D) Accuracy

Item difficulty index can be found by
dividing the number of the test takers
correctly answering each item

(A) The total number of Girls
(B) The total number of Boys

(C) The total number of questions
(D) The total number taking the test

13.

14.

15.

16.

17.
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YIS Mo Tl hAe= Shlaael

3R,

(A) 30fHfe
(B) 1fafte
(C) 30T=+g
(D) 10 ¥%g
qErerdsh! hivral favagrad=t Tgdl
& ?

(A) TRArE
(B) 9
(C) IR
(D) FHERR

IR e Siogl HEAMMET fafime R
STUTeTd Tl deal I h1d WU ?

(A) YHTSH
(B) fere Geuid s
(C) | HgHid A

(D) e
YSRGS e = T SMYRAHT

(B) 9fdferan &ies
(C) Tehmudn
(D) Tgehdl

qTe STHEATH YA ShIfguauTdas]
RENIEE R

(A) TeIT= TR TE&A

(B) HAT= THI HE&AT

(C) AT THYT HE&AT

(D) =HEEt o= foreneaf=f wshu e
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18.

19.

What is the problem with this set of
response categories to the question ?
What is your current age ?

(1) 10orless
(2) 10to 20
(3) 20to30
(4) 30to40

(A) The categories are not mutually

exclusive

The categories
exhaustive

Both (A) and (B) are problems

(B) are not

(®)

(D) There is no problem with the

above set of response categories

What is the appropriate sequence of
constructing psychomotor test ?

(1) Pilot testing
(2) Establish detail procedure

(3) Determining validity, reliability
and objectivity

(4) Review of the literature
Codes:
(@ b)) @ ()
A 2 @ @O O
B @ @ @ O
< 2 & @O @
M 1 B @ @

18.

19.

MAR - 71223/11—D

el faasterrean Tammed &g
3R ?

T IAHE 99 H1 3T 7

(1) 10 foar &t

(2) 10420

(3) 20430

(4) 30140

TE 3 Tl
groft afeqet =t
(A) 3T (B) Tl FH&

ool foreRtieh=aT TS ST o
-

I HEe! ST A7 A w2
(1) TeRt et

(2) ot shrEivgdl Tenfud o

(3) e, foreeraiaar it sRqgfTsea
et

(4) G rfgem=n e
Hehdieh :

(@ b)) () (@
A 2 @ @O 3
B) @4 @2 @O O
< 2 & 1 @
O @ & @ @

(A)
(B)

()

(D)




20.

21.

22.

23.

In the scoring system of body type are
graded in a scale from ..........

(A) 1to10
(B) 1to7
(C) 1t09
(D) 1to8

Identify the managerial function out
of the following functions of HR
Managers :

(A) Procurement

(B) Development

(C) Organizing

(D) Performance Appraisal

The most important information a
meeting planner can determine prior
to an event is :

(A) Past events held by the group
(B) Expected attendance

(C) The budget

(D) Group demographics

Determining where a special event
should be held, what helps the event
planner in deciding the location of
event :

(A) Research
(B) Design

(C) Planning
(D) Coordinating

20.

21.

22.

23.
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YRR YR UM JOTetrd Sof
THOT fee T S

(A) 1910
(B) 147
(C) 149
(D) 148

TH. AR HANH=AT TIedtd HTAA
LA hTrel Aol Tl :

(A) =

(B) foerm

(C) SEsH

(D) AR FeIETa

TEITE HREHATET HifeT wiR gR i
:—g *;ﬂmTrﬁ Tald Hewardl Aifgdl w1

(A) Toee gt TSI AN shredshd
(B) 3afera Iufeerdt

(C) &

(D) T AR

o9 HTEHA HIS TATSA hedl Sl ®
f¥=q L0, ST g WA § 3aul,
ETATAUeh! Seged T ST i Hed

EXGI

(A) weled
(B) fesmE
(C) frimm
(D) TE==

[P.T.O.



24. What is the second stage of event

25.

26.

27.

planning process ?
(A) Planning
(B) Research

(C) Design

(D) Evaluation

Which of the following is not a main
reason for the growth of sports
sponsorship ?

(A)
(B)

High feedback opportunities

Its propensity to attract large
audiences

()

Simple segmentation, large
audiences who share similar
characteristics

(D)

The most popular form of sports
sponsorshipis :

(A) Individual
(B) League
(C) Team

(D) Event

Which set of characteristics most
accurately describe PR ?

High visibility opportunities

(A) High cost, high credibility, low
control

(B) Low cost, low credibility, high
control

(C) Low cost, high credibility, low
control

(D) High cost, low credibility, high
control

24.

25.

26.

27.
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FrdsH TEeH gfshad SO0 T &

e ?

(A) =

(B) Eened

(C) T=A/ e

(D) qedish

ISl WESTehcaT=Al RIS @eleTush

I H&A IR ATEr ?

(A) =3 ®igs® gl

(B) Wi GeTehi=T STeh{bd ShaoATe =t
EENl

(C) T TRHH, FHM orelfeTser=
Hrel SHHEH™

(D) =3 SIIHM Felt

Waaldiel WraTSTeha=l gaid arehigd HiH
v 3T ?

(A) SafFs
(B) @
(C) @M
(D) FHH

.3TR.T. 3T U hIv-a1 SfeTser=

IO T 3T ?

(A) S=a forma, s=u fovaaiaar, s
IBREL

(B) =t fopud, st fovagiaar, =9

IREEN

(C) =Hl forma, 3= favaaiaar, &4

IREEN

(D) s=d formd, st fovergriaar, Sea
IRREL
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28.

29.

30.

Which of the four PR models set out
below is used most by practitioners ?

(A) Symmetric

(B) Asymmetric

(C) Public Information
(D) Press Agentry

Inspiring the staffis a good reflection
of which type of skill ?

(A) Negotiating
(B) Leadership
(C) Project management

(D) Budgeting

Match the following :
(a) Pugilists @)  Golf
(b) Santosh (i1) Basketball

Trophy
(c) Da James Nai (iii) Boxer
Smith
(d)Putting (v) National
football
champion
Codes :
(@) (B)
(A) @) (@id)

) (@
@ Gv)

(B) Gv) @)
(C) @) (v)
D) @) (o)

@) @)
@ @)
@) @)

28.

29.

30.
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WTeie IR 91.3TR. AiSeqien! Shivd Aise
MR ST ST Shidld ?

(A) HHfHd
(B) SFHHd
(C) Wik Hfedt
(D) = T
SHHETAT JTOT T IV TehTLdl hiRTed
AR ?
(A) deT=E
(B) e
(C) YohoU HIEITIA
(D) Wi
ElTetiel Sret el
(@) griTferee (@) TeH
(b) TA™ HT (i) STEEhesd
(c) B S ™ (iii) SRR
ey
(@) gfem Gv) TWEA B
LRk
Hehdioh :
(@ B () (@
(A) @) @) @ ()
B) Gv) @) @) @)
(C) @) Gv) @ G)
D) @) Gv) @) @)

11
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31.

32.

A test of statistical significance

indicates how confident the

researcher is about :

(A) Collecting data properly

(B) Inter-tester reliability

(C) Understanding the data
analysis

(D) Generalizing their findings from

sample to population

Which of the following is not the

purpose of literature review ?

(A) Identifying the research

problem

(B) Developing hypothesis

(C) Collecting data

(D) Developing method

31.

32.
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qifezeht eferar gifarn=an ATeHTqA

(el

TN ATeedid FAy=d g ;

(A) I TG HIfEdt Hehar hiol

(B) Ta-wdiereh fawamaan

(C) wfedt fargerer FHso!

o <

(D) —EIMEA Tl FTht STHETa!

TR0 0T

LI o ~ = AN A
AGHA o=l Hleldl V4= HelcHon]

I HE AR ?

(A) TN THET e

(B) 9fRaneu faesfad o

(C) wfedT TMesl ol

~ ~

(D) gt faenfad sl
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33.

34.

The informed consent given to the
research participants includes

information about :

() Purpose

(i) Procedures and risks
alternative

(i11) Benefits and

procedures
(iv) Limits of confidentiality
(A) (i) and (ii)

(B) (i), (ii) and (iv)

(C) (@), (iii) and (iv)

(D) (@), (id), (iii) and (i)

In SPSS which menu item contains

MAR - 71223/11—D

33. TRNYH UfEIGeRHT footed ‘ Afedrgul wodt’

AT AT Hfe! feetell 318

() HNeH B

(i) FEEE Uihal 9 WA €
(ii) IR o qATET Ufsha

(fv) T AT

(A) (@) 3fo (i)

B) (@), (@) 2 (iv)

(C) (@), (iii) 31U (i)

(D) @), (@), (@id) S ()

34. THHTHTH T I HHE =t (=0

procedures to manipulate ('-Tﬂbg@d) S
variables ?
(A) UTH 5,
(A) Graph Menu
(B) S
(B) Data Menu
TR
(C) Transform Menu ©) < 7,
(D) Analyze Menu (D) TS E 7=
13 [P.T.O.



35. Don’t you agree that athletes should

36.

get better facilities than they

currently do ?

The question above is :

(A) Leading question

(B) Loaded question

(C) Double barreled question
(D) Double negative question
An intervening variable is :

(A) Another term for dependent

variable

(B) Another term for independent

variable

(C) Responsible for the relationship

between independent and

dependent variable

(D)

a variable that is manipulated

by researcher

MAR - 71223/11—D

35. weA THeoum==n Ylaemien 1fees =mTe=n

36.

o Teere A1 e 318 Rl ared

el &1 ?

(A) fezmesier g

(B) 9T RA

(C) T Sela Tehs HHIELT STEHUR e

(D) fg-Termedt wea

Ty 9 WU

(A) 3T TATETS=T gHE T

(B) TNl sG] gt g1

(C) TS o ST T Heie] TEfad

LRI GRS IEFRE G|

M

41

(D) HeNeEeh™ T saa =9
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37. Match Column-I with Column-II :

Column-I
(1) External criticism
(2) Internal criticism
(3) Positive criticism
(4) Negative criticism

Column-II

(1) Establishing the reliability or
authenticity and accuracy of the

content of the document.

(z1) Validity, trustworthiness or

authenticity of the source.

(zi1) Reliability or accuracy of the

information contained in
sources.
(tv) Ensuring that the statements

made or the meaning conveyed

in the sources is correct
Codes :
L @ B @
A) @) @) Gv) @)
B) @) Gv) @) @G
(C) () @ @) @)
D) @ @) @D (o)
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37. wWY-I N0 WH-11 Heftet e Jeoal :

wY-I

¢ o~

(1) dfeta fafeman

(2) ofafa fafeem

(3) ThNIcHs: Tafehc
(4) ThRcHs fafeacn
wWY-11
() TEESTAE ST forgardHrea

fRan sAfegamefiaar & ST
AT L.

(i) warl e, fagargrdar, feen
AfEyHT A

(iii) Bameie wifedren fogemiear, faen
TRl

(iv) TiEfaeiel Fana faaH o = T8
BIOTRT 37 SR ST AT T ol

e
L @ G @

(A) @) @) Gv) @)
B) @) Gv) @) @)
C) @) @O @ @)

M) @ @) G2 Gv)
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38.

39.

40.

What is the difference between a bar

chart and a histogram ?

(A) Histogram doesn’t show the

entire range of scores

(B) Bar chart are circular and

histograms are square

(C) Bar represents numbers and
histogram represents percen-

tage

(D) There are no gaps between the

bars on a histogram

Statement I : In any distribution,
the median must fall at the 50th
percentile.

Statement II : All unimodal
distributions are normal.

(A)

Statement I is true, statement I1
is true

(B)

Statement I is false, statement
II is false

Statement I is true, statement I1
is false

(&)

(D) Statement I is false, statement

II is true
Critical reading means :

(A)

Taking an opposing point of view
to ideas expressed

(B) Evaluating what you read in

terms of your own questions

(C) Being negative about something

before reading

(D) Skimming through the document

38.

39.

40.
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WY (SR =1e) o e 9 ™
e Tl ?

(A) o= graieshi=n 9 fawr
qferet ST et

(B) IR =1 el R fe=mmy SesrHt
T

(C) IREEER T T G2 Zocha]

ifoara
(D) feEuma=a T|aHey a9

faam 1 ; ot faaeond, wegmm 50 =

STAdHeRTEIE 3TT@osd.

faem 11 : Tewagaeh el 6 foae
HH 3HAId.

(A) foum I 9 a7, faum 11 9 3T’

(B) faum I s/ o1, faum 11 s/
3T

(C) Toum 19 31, faum 11 19 3T

(D) faum I 15 o1e, faem 11 9 e

Fafhcaes areq B :

(A) HATSTea Hedr=A fadil gitesn/aa
SO

(B) &A@l AHATAT YYAGR AT
ST JeIHTIH HL0l

(C) Ar=ATgET= SRTHEEA TR RIcHeh
T

(D) TRET SIS =300
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41. The Olympic Motto “Citius, Altius, | 41. efus= sigamEa ‘fac=y, s,
Fortius” means: TR T
(A) TR, ==, gedl
(A) Serious, highest fortuitous
(B) =Yes, 3, ASTE
(B) Swift, tall, fortified )
(C) Ao a7E™, sifys 39, Afae
(C) Faster, higher, stronger TBFE
(D) Swiftest, highest, fastest (D) Tdid 9Y9es, Tl 39, Taid Seig
42. Inwhich Olympics were Gold Medals | 42. =hiorcn siffefues Teqed gfecdier gt—:ruf
first given to the winners ? Ucoh UITq 3] ?
(A) 1928 Antwerp (A) 1928 sT=ad
(B) 1908 London (B) 1908 e
(C) 1900 Paris (C) 1900 U=
(D) 1896 Athens (D) 1896 I
43. In which year Commonwealth | 43 TSI Tl BT el GE e 2
Games are started ?
(A) 1896
(A) 1896
(B) 1906
(B) 1906
(C) 1911 (€ 1911
(D) 1915 (D) 1915
17 [P.T.O.



44.

45.

46.

Which of the following is not a
characteristic of balanced, healthy

lifestyle ?
(A) Exercising regularly
(B) Drinking water regularly

(C) Only drinking 5 units of Alcohol
per day

(D) Eating plenty of fruit and

vegetables

In Olympic games players securing

fourth to eight position are honoured

(A) Money

(B) Felicitation
(C) Medal

(D) Diploma

The Rajiv Gandhi Khel Ratna Award

instituted in the year :
(A) 1991-1992
(B) 2001-2002
(C) 2011-2012

(D) 2006-2007

44.

45.

46.

MAR - 71223/11—D

TITeiTeTdsh! 10 Tk Fqrad, FHm

EIERNNIEIEItEo R | F
(A) Trafaauo =M S

(B) fafaa qroft faor

(C) TR 5 e sTehiara faot

(D) HXQT GHTOTT Tos ST ST B0y

Affcfuer Werd IR T A8 HHG U<

(A) T
(B) ¥R
(C) 9=
(D) TeETeRT

TS MET Bd T GIERR R0

SO QUa YR el ?
(A) 1991-1992
(B) 2001-2002

(C) 2011-2012
(D) 2006-2007
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47.

48.

The Sports Ministry’s scheme ‘Pykka’

stands for :

(A) Panchayat Yuvak Krida Kendra

Association

(B) Planning Yuva Krida Khel
Abhiyan

(C) Panchayat Yuva Krida Khel
Abhiyan

(D) Planning Yuva Krida Khel

Abhigyan

In volleyball, which movement
pattern helps produce sufficient

velocity and accuracy to serve the

ball underhand ?

(A) Moving the striking arm in a

pendulum swing

(B) Shifting body weight rapidly to
backfoot

(C) Keeping trunk motionless

(D) Minimizing bending of knees

MAR - 71223/11—D

47. WA HATI=  rreht’ S RS

(A) U= g1 SISl B STIFqugH

(B) I sisl W AqAH s

(C) T=Tad a1 ISl Td et T

(D) I siel e A FeH

48. RIcHeeHE] STrelg-< Hee Pl AT &

IR HLTATES! hIUT! BTeTaTed Fehll

Ted hld ?

(A) HRUIMET BT ATAR I Rl

(B) YT YR Ueeh+ HFTA YTATAR

TLha0l

(C) ¥ feer oo

(D) TESEA ATRT HHT R

19
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49. Select the correct option of an example

of specificity in strength training :

Option Athletes Reps Sets Resistance Recovery

(I) 800 m swimmer 3-10 2-3 light 2-4 min

(II) Spring board
15+  3-5 30-90 sec.

driver light

(ITI) Long jumper 3-6 3-5 heavy 2-4 min

(IV) Weightlifter 10-15 2-3 heavy 30-90 sec.

A D

(B) (ID)
(C) (11D
(D) (IV)

50. Main consideration for effective

periodization should be

(A) Skill development

(B) Achievement of top form

(C) Development of tactical ability

(D) Base creation

MAR - 71223/11—D

el

49. TIehe ivTeTond fafe

TS 3STE Lo A

ERIEAECEI
NS S s wa wm gl
@ 800 . wworR 310 2.3 w24 f
(I fistn 4 15 35  wew 3090 %
(IID) v 5 Bors 36 35 = 24M
IV) 32 feren 1015 23 = 3090 %

(A) (D

(B) (ID)

(C) (III)

D) IV)

50. 9Tl wTatadrsH AASEEE 9qw

(A) SR T

(B) 2f9 % 9T ol

(C) SEUETHS: HArT faehr

(D) 9™ TR R0

20
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51. The site of fatigue in neuromuscular | 51, LIRS SIS YR e =0
junction is due to decreased release FHHIS B
Of oo
(A) HAREE
(A) Ca**
) (B) sffacEasifer
(B) Acetylcholine
(C) H* © ”
(D) Lactic acid (D) grar
52. This type of exercise causes the | 92- HIITT YT AT HeAifereh STey
greatest DOMs : ferstior et 2
(A) Eccentric (A) I
(B) Concentric (B) i<
(C) Isometric (C) STaEmdI
(D) Isokinetic (D) RIS
53. Volume of air remaining at end of 53. hHMA 51;;9\q|{1|-{q{ g"} {|r5€1¢q| 6(;|‘cq|
maximal expiration is :
P ST 3R TR
(A) Residual volume (RV)
(A) 1M fehomdt gan
(B) Expiratory Reserved Volume
(ERV) (B) S=ATfad gal
(C) Inspiratory Reserved Volume
(C) Trervanfad gan
(IRV)
(D) Tidal Volume (TV) (D) e &
21 [P.T.O.



54. Match the following :

55.

Action
(1) Flattens
2)
3)

4)

Raises Ribs
Elevates first and second ribs

Elevates sternum

Muscles Acting During Exercise

(@) Scalene
(b) Sternocleidomustoid
(¢) Diaphragm
(d) External intracostals

1) (2) 3) 4)
(A) (o) (@) d ()
(B) (a) ®) (c) (d)
(C) (o ®) d (@
D) (o) (d) (@) ()

The study of the physical laws

governing blood flow is :
(A) Pneumatics

(B) Hydraulics

(C) Hemodynamics

(D) Hemodilution

MAR - 71223/11—D

54. SISl A

55.

feram
(1) YU

(2) RIS I UM

(3) ufeedn 9 TH-A1 Tk SAAUIR

(4) WY ITIUR

SHTATHTEAT J68l ATUel ST S
(@) Thod
() EHIRIEHRERE
(c) SEmM
(d) M TR,

(1) (2) @) @
A) (© (@) (d  (®)
(B) (a) (b) () (d)
C) () ®) d (a)
D) () (d) (@  (®)
T YaTE Haet difaes = st
................ B
(A) gHfed
(B) wEglferd
(C) THISEHTHR
(D) BHISEIRM

22



56.

57.

58.

An increase in stroke volume in
response to an increase in the volume
of blood filling the heart ventricle
during diastole is law of the

heart.

(A) Boyle’s

(B) Charles’
(C) Sterling’s
(D) Newton’s

A normal adult daily protein

requirement is about

per kilogram of body weight.
(A) 4.0
(B) 2.5
(C) 2.0
(D) 0.8

A hormone secreted by the alpha cells
of the pancreas that causes increased

blood glucose levels s ..........
(A) Glucagon

(B) Glycolysis

(C) Glycogenolysis

(D) Osmosis

57.

58.

MAR - 71223/11—D

o a

TSI YELUTA dcdl Sa-ehTdlel e THT0T

ATed ST IO SIehT AR oTedl.
(A) 9T
(B) =med

(C) wferm

D) =

TehT GIe SHekiell Yodieh TRl IimTHed IS

(D) 0.8

JhiarsHeTe STeh TeitHed

ST |16 Bl SATHes WA HIeRd

THTOT ST

(A) TIRTIE
(B) TAEIAA Y

(C) TAIRISHIAITH

(D) IrgEag
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59.

60.

61.

62.

The diffusion through a semiper-
meable membrane of a solvent from

lower to more concentrated solution

(A) Osmosis
(B) Diffusion
(C) Oxygen debt
(D) Dyspnea

Lack of adequate oxygen due to
reduced oxygen partial pressure

(A) Hypoxia

(B) Hyperoxia

(C) Oxygen abundance

(D) Hypotonic

Elbow flexion occursin ........... plane.
(A) Frontal

(B) Transverse

(C) Sagittal

(D) Horizontal

Shoulder jointisa............ joint.
(A) Triaxial

(B) Multiaxial

(C) Both (A) and (B)

(D) None of the above

59.

60.

61.

62.

MAR - 71223/11—D

TEITE HHT Shisd SANH ST ohisd SaTehe
T8 T qe T TER Bron=a gfshAe

(A) FafgEon
(B) 9ER

(C) WIUET A9
(D) featTan

AU HIOTEg SRR STEHs ST

(D) TEUR®

N N :
S RI= Hlep

(A) T=d
(B) oo
(C) GeTueet
(D) S

(B) wg3i&i™
(C) <t (A)d (B)
(D) e{ieTeh! hIUART el
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63. In............ lever effort arm is always | 63. THHL GRSH YT & IR YSTae
longer than the load arm. TeHI SR ol 3T
(A) First and third class (A) JgH 49 Q?ﬂ'q Th =1
(B) Second class (B) fgdita wehreen
(C) Third class (C) e Fehr=n
(D) Second and third class (D) fedta o gt Tz
64. Powerisequalto.............. 64. T T SR 3T
(A) Wh (A) W/t
(B) F.dit (B) F.d/t
(C) Both (A) and (B) (C) (A)F (B) <=l
(D) None of the above (D) AT ShIUIdE! TRl
65. The Sl unitof............. is m/s?. 65. m/s?2 " T =1 TH. 3. e 378
(A) Distance (A) 3R
(B) Displacement (B) forzemq=
(C) Velocity (C) =
(D) Acceleration (D) o
66. One Newtonisequalto.............. 66. Th =A@l el 3
(A) 1 kilogram meter per second (A) 1 Freimm dre 5 e
(B) 1kilogram per meter per second
(B) 1 fraimm wft X wedt ke
(C) 1 kilogram meter per second
squared (C) 1 foretum HieX yedt Yehe ot
(D) meter per second squared (D) T vt Aehg o
25 [P.T.O.



67.

68.

69.

70.

The centripetal force is inversely

proportional to..............
(A) Mass of the object
(B) Radius

(C) Both (A) and (B)
(D) None of the above

The stability of a body depends upon

(A) Base of support

(B) Friction

(C) Both (A) and (B)

(D) None of the above

Back spin causes. ................

(A) Decrease in height of bounce
(B) Increase in height of bounce
(C) Increase in speed after bounce

(D) None of the above

Radar gun is used to measure the
......... of the body.

(A) Strength
(B) Power
(C) Flexibility
(D) Velocity

67.

68.

69.

70.

MAR - 71223/11—D

(A) KT SFGHA
(B) ==
(C) (A)F (B) =t

(aV

(D) IUATR] HIVRT ATa!

(A) STERTET 9T
(B) ®rstor
(C) (AT (B) g =l

(D) aeTeh! ShIvTE! ATl
SV — .
(A) IHBE! 3 =

(B) e 3 A&

(C) TS Tt AT

(D) SRIcTeh! ShITa! ATel
SN — O — —
T SR ST

(A) TIehg

(B) TreKil

(C) <aferehd

(D) =
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71. Sports performance is the bi-product | 71. TSREAN TUS =t et
of:: 3T,
(A) Skill (A) =R
(B) Conditional ability (B) gieerdt arwa
(C) Total personality (C) FaiT SHfRTH~d
(D) Tactical ability (D) Sau= &Hal
72. Concentration development | 72. wehnmar faspg Ay O] ST
preparation comes under....... phase. Jd.
(A) Pre-competition preparation (A) HUgE TRt
(B) During competition preparation (B) Tyt ew =M I
(C) After competition preparation (C) TR T
(D) None of the above (D) eicAent -Tel
73. To assess psychological potential we | 73. HAFREITSNE QqHa< GRS SH LTS
amse: ] e = ST .
(I) Psychomotor test (I) HR& HIRT
(II) Cognitive test (II) STeETcHeh Sl
(III) Behaviour test (IIT) T share
(A) (I) and (II) (A) (I) smfor (II)
(B) (II) and (III) (B) (II) ot (IIT)
(C) (D, I) and (III) (C) (I), (II) =fur (I11)
(D) (I) and (III) (D) (1) nfor (1I1)
74. Which is not a method of Sports | 74. TWTeiicTysh! IVl hiST AHNIETE! UGd
Psychology ? A& ?
(A) Observation (A) 3T
(B) Introspection (B) STcHOE0
(C) Rational (C) difeheh
(D) Experimental (D) IR
27 [P.T.O.



75.

76.

77.

Psychological factors affecting sports

performance :
(I) Confidence
(II) Diet

(ITT) Concentration

(IV) Anxiety

(A) (D, (IIT) and AV)
(B) (II), (III) and (IV)
(C) (D), (ID), (I11) and (IV)
D) (@), (D) and (IV)

The S-shaped “Learning Curve”

consists of :

(A) Slow beginning
(B) Steep acceleration
(C) Plateau

(D) All of the above

The theory of Mental Discipline

considers .......c..c......
(A) Intelligence
(B) Imagination
(C) Judgement

(D) All of the above

75.

76.

77.
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S ISIRFIATTER T SHIom AR

S — -
@) ArcH{ITeTE

(I) &R

(I1I) TehT¥ra

(IV) fean

(A) (I), (III) &7t (IV)
(B) (II), (III) Afor (IV)
(C) (), (ID), (I1I) for (IV)
(D) (D), (ID) &t (IV)

S-SRI * ST THTHED HIMEI

HHEL Bl ?

(A) HTECehRT el
(B) SIRER
(C) YarTerED

(D) =Rierten! ¥
ATfees ferit=an fagrames s fa=m
Shedl Sl ?

(A) Jfgaa

(B) heqt

(C) foi=

(D) =iettent Hel
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78. Knowledge, analysis and evaluation | 78. ~TTTT AT AT 7, fagerso
come under the ............ learning. ST YearH o Ad
(A) Cognitive (A) SEHSR
(B) Affective (B) Y1d1cHh
(C) Motor (C) =k
(D) None of the above (D) aeTueh ATl
79. In football match player playing at | 79. WHealid HH=IG hidS
forward position requires ............ ST HFAHSIE I o =
psychological qualities.
I =™
(I) Exercise
(II) TWehrdn
(II) Concentration
(I11) QLT STshHehd1
(ITI) Adequate Aggression
IV) wrafes w2
(IV) Emotional Stability (V)
(A) (D), D and (V) (&) (D, (D T (IV)
(B) (D), (ID), (TI1) and (IV) (B) (L), (I, (IID) ST (IV)
(C) (ID), (I11) and (IV) (C) (ID), (IIT) 37fer (IV)
(D) (I), (ITI) and (IV) D) (), (III) 37T (IV)
80. Stressis.............. 80. UM =TT
(A) Advantageous to the player (A) TGS 3T&al
(B) Detrimental to his abilities (B) SERIRCIKIERIS]
(C) Both advantageous and (C) ToslsH HRIRTIN & 3118 ST e
detrimental as per the situation G RCIGICKIE]
(D) None of the above (D) aIcrteht Tt
29 [P.T.O.



81.

82.

83.

84.

2 to 7 years is the phase of motor
development to teach ...........

(A) Reflexive movement

(B) Fundamental movement
(C) Sports movement

(D) Rudimentary movement

Learning about sports rules,
traditions and history are under
which of the following domains ?

(A) Affective
(B) Psychomotor
(C) Cognitive
(D) Associative

Which of the following is ‘Academic
Learning time’ in physical education
class ?

(A) Roll call

(B) Organizing teams

(C) Student practicing the skill
(D) Student waiting in line

Internship program of teacher
education provides :

(A) Content course
(B) Practical course
(C) Complete school environment

(D) Research course

81.

82.

83.

84.
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Hh fIhmmde 29 7 98 &1 20
AATIATS TR,

(A) wiasfia grersmed
(B) HAYd Bret=al
(C) whisl grefered!
(D) AW BTeT=el

wrel fram, gy, sfagrg a1 msd
TTATAd T HIvTeA & AT e
ST ?

(A) WTEATHE &3t

(B) & &

(C) SemeHeh &

(D) WeshRT &

EITIeh] hIvTal TIRITe fRTeqor dremdia
Srerfreh 27T Hles Y 2

(A) Iufeerdt By

(B) 9 SATES hio

(C) Taenedf v ¥ Hiand

(D) forenelt AETHed dieshosd eldTa

(A) AR IUHH

(B) wrcAfersh SUshH
(C) TTMesd HYUT FATATER]
(D) HRIE SThHA
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85. Which is not included in the three 55 T St i
broad parameters of the professional
preparation in physical education ? SAlAXlE a9 3= S T 2
(A) Internship (A) =15 TaEE
(B) Laboratory and field
experiences (B) TAFRIGT & FA& STTH
(C) Performance competency and (C) SHTIEM TeTTar o Tam
preparation
(D) Value education (D) T REm
86. Which of the following is accurately | gg eI IV ST SIS 378 ?
matching ?
() Dodging a football—tactile (D) HeSITeTell ehel— TR
awareness
(1) fweia gfegq —dream
(II) Serving a tennis ball—rhythmic
AWATENESS (I11) ShiFeh ] HTTT—EAAU hieTed
(III)Running cross country—
manipulative skill (IV) T =Tl TEehal ATl dol-TTaq™
(IV) Riding a unicycle—dynamic —_—
balance skill
(A) (D and (III) @) M (1D
(B) only (I) (B) ®d (D)
(C) (ID) and AV) () () ST (V)
(D) only (IV) (D) ™ (IV)
31 [P.T.O.



87.

88.

89.

Identified content of cognitive
domain and select the correct code
given below :

(1) Knowledge
(2)
3)
(4)
Codes:

(A) (2),3),(4)
(B) 3),(4),(1)
) 3),(2),1)
D) (1),(2),(4)

Elementary school curriculum

Synthesis
Automatization

Evaluation

should mainly focus on :

(A) Fundamental skill education
(B) Awareness education

(C) Fitness education

(D) Entertaining education

Which one of the following is not a role
of the school curriculum in promoting
an active, healthy lifestyle ?

(A)
(B)

Teaching motor skills

Encouraging participation in
physical activities

(&)

Selecting the best performers for
national teams

(D)

Teaching fitness concepts

87.

88.

89.
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o

NYcHer Toehta ATfareh
A Hehdieh e ¢

(1) FH

(2) EEIEO
(3) AR
(4) HIHMIA
Hehdieh :

(A) (2),(3),(4)
(B) (3),(4),(1)
(C) 3),(2),(1)
D) (1),(2),(4)

TrerfHeh YMesdie AATHHHTA
YT AT

(A) v e R

(B) SRl fRrafor

(C) wreTeedr= fRrefor

(D) A fRigro

ST ST Ffohal Sae e Te! Te
STETER AT qeladenl hivrdl fHehT
e ?

(A) FTF IR AT

(B) Imifier Gfewadn Te9rme Jicdres
(C) TSI ! Sh= WeaigH! e

Iy N

Il SIh Test

(D) el heuArs A
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90. The objectives of intramural and

91.

92.

extramural is :

(A) To provide an opportunity to
students within the institute
that will be conducive to their
overall development

(B) Todisplay their skills in various

sports

(C) To have limited exposure to the

competition
(D) To gain experience
announcing and comparing as a

part of their training

In the matter of health one should
always :

in

(A) Follow traditions and customs
(B) Act upon parent advice

(C) Beguided by the light of science
(D) Believe in prevention, not cure

Mark the proper sequence if the four
complex food process as they occur in
the human body :

(A)

Assimilation — Absorption —
Digestion — Ingestion

(B) Digestion — Absorption —

Ingestion — Assimilation

(C) Ingestion — Digestion —

Absorption — Assimilation

(D) Absorption — Ingestion —

Assimilation — Digestion

90.

91.

92.
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MR 9 deha Wue 3fEe =S

(A) Fafmor faemmgrarer T8 siqaid
foraneat-n Heit SucTsy] shed <0l

(B) fafay @il shivedrs qegi sHol
(C) Tqei= waifed YevHmEme

(D) forameat=an gfrarom=n | woA eAftn
STa ez 1 weiia shevamet

(A) Tfafas a W 9o

(B) O =AT Fa-< dTel

(C) IS Ygdi=n Anies
(D) SUERER F wial Yfqeemer favam
L

TS TN IR Sfed STt fsharn
AT HH AT

(A) THAHLI — TMHOT — TaT — 3T
T SITo

(B) 9= —> IO — 37 UIerd STl —
THATHI

(C) 3T TR SO — T=19 —> IM90 —
THATHI

(D) IO —> 37 T2 SOl —> ThHATHLO
— =
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93.

94.

95.

96.

Which of the following foodstuffs
contains almost all ingredients of
balanced diet ?

(A) Meat

(B) Chicken

(C) Milk

(D) Fish

Which of the following is not an agent

of substance abuse ?
(A) Lipids

(B) Tobacco

(C) Opioids

(D) Marijuana

Which of the following conditions is
life threatening ?

(A) Heat radiation
(B) Heat exhaustion
(C) Heat stroke

(D) Heatloss

Which communicable disease is also
known as ‘Hydrophobia’ ?

(A) Hepatitis A
(B) Rabies
(C) Tuberculosis

(D) Leprosy

93.

94.

95.

96.
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EITCATe ShIvTC ST HHTERI0 Te 3T
FEHE] THORT R ?
(A) 99
(B) hrwitel Hid
(C) gH
(D) =
Eeteden! IV SoY TRETI=n Seeh
ATEr ?
(A) fadem
(B) T
(C) Mfyatesd
(D) HIRS[AM

BITetadsh! siorar gfefeerdt fsarar

HerTgTaeh 3R ?
(A) o1 fafewto

(B) STH gehell

(C) 3I°H dstEn

(D) 30 THAM
BITATATRT HITTHT GEIS=H QITAT

G W [ e S ?
(A) BftreEfcd &
(B) o=t

(C) HHATEHH
(D) wgdt
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97.

98.

99.

100.

What is known as the primary
instrument of Health Promotion ?
(A) Sanitation

(B) Medical care

(C) First aid

(D) Personal Hygiene

The School Health Education
Programme can provide service to the
extentof ...............

(A)
(B)

Medical examination

Medical care to the limited
extent

(C) First aid for cuts, bleeding,
dislocations etc.

(D) Complete treatment for diseases
and disabilities

Name of the theory of recreation
which says that ‘Play is motivated by
a search for Pleasure’ ?

(A) Catharsis theory

(B) Theory of Hedonism

(C) Surplus energy theory

(D) Arousal-seeking theory

Which of the following is the objective
method of measuring physical
activity ?

(A) Log book

(B) Goniometer

(C) Pedometry

(D) Diary

97.

98.

99.

100.
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Y St &1 hIoTe WA e
et ST ?

(A) =l

(B) Se=rshia gfaen

(C) JIHTER

(D) Sferer Taresdl
YT TR f318701 ST HHIGR hITT Tl

Rfgelt S ?

(A) SErERE =rat

(B) wHifGd oerenta gfaen

(C) FUFEHMR JIHTIR, a9
freesu <.

(D) SR 3T STaTiear Joi IT=R
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